p.56 Ch. 1 Test Answer KEY

1.  25
2.  7
3.  4
4.  64

5.  eight squared; 8•8; 64

6.  2 to the seventh power; 2•2•2•2•2•2•2; 128

7.  0.2 to the fifth power; (0.2) (0.2) (0.2) (0.2) (0.2); 0.00032

8.  0.7 to the fourth power; (0.7) (0.7) (0.7) (0.7); 0.2401

9.  V = s3
     V = 503
     V = 125000 cm3

10.  84.2
11.  3

12.  22

13.  23

14.  25

15.  19

16.  52

17.  2

18.  78; 78
19.  121; -121
20.  33; 33
21.  19; -19

22.  24

23.  –68
24.  –46
25. 21

26.  21

27.  -67
28. –54
29.  24

30.  –640
31.  –19
32.  750
33.  –35

34.  –72
35.  –20
36.  192
37.  15

38.  To find the mean (average), add the integers and divide by 12.
  You should get -$4.

39.  Plot the points.  They should lie on a line.

